ESTAEELETITHME FHEXEFMERER—E (FN3FEICERLEH)

R3FE | R3FE i . SEME Azt
22 ii BRA ARE RERR | WEMR a)‘ﬁ;f E@;-—:’JLI’E Hatin f_ﬁf; QX EGE 3R MEGE 3R R
(FM) (FM) mr=-x oo oWt OB TEE

1 24| HBUEAZEIEEREH IR3RILEERR 609 0 b a a b b b a a A B A 2. fki5:
2 A2|[RREEEFR - RITHE PN 80,267 2,425 a a a a a a — — A A A YR 3
3| 1654|374 E— L XHEHEEE PN 19,968 1,226 a a a a a a — — A A A 2 fk e
4| 2357[#BL DB S VA NAEEERERESE |[LHRLERSR 13,608 13,459 a a a a a a — — A A A ABELL [fBEEICHE
5 7T E TBIRZ 8 12,618 0 a a a b a a — — A B A 2 fk e
6 8| LIBATHEEEE TBIRZ 8 2,855 0 a a a b b a — — A B A 2 fk e
7| 2061( EE MR £ SR ET THIR &% 2,983 0 a a a b a a — — A B A 2.1k f6t
8| 2151|FE 6 X LEMHRATBEREEHE TBIRZ 8 9,673 0 a a a a a b a a A A A 5.7
of 2154|1TH Y — R M LAIEHESE TBIRZ 8 2,604 0 a a a a a b a a A A A 2 fk e
10{ 2212|A | EHBEHRIER S X T LEREE TBIRER 949 0 a a a a a b a a A A A 2 fk e
11| 2036|352 & & HIFBILESE B EGR 30,600 0 a a a b b b a a A B A 1LiLF [BEABROFTE
12| 338|mEREHEEE mERERR 201,893 36,397 a a a a a a — — A A A R 3
13| 340|EEEEMREHBEE BERR 184,445 0 a a a a a a — — A A A R 3
14| 342|mRERUNEZE fakinees 321,548 107,807 a a b a a a — — A A A 2 fkiee
15| 119|ABEEEEEHE JicEE: S 3,305 0 a a b b b a — — A B A 2 fkiee
16| 121|BRBILISEEBREE JicEE: S 51,215 0 b a a b b b a a A B A 2 fkiee
17| 125| 7 7 YEEEEEE MERRR 20,957 385 b a a b b b a a A B A 2.fk#T
18] 127|FAMhEREZE JicEE: S 11,377 0 b a a b b a — — A B A 2 fkiee
19| 1153\ BV EBBRKREE JicEE: S 7,428 0 b a b b b a — — B B A 2 fkiee
20| 1857| AR~ F T A v MHEEEE & 16,668 0 a a a a a a — — A A A 2 ki
21 A8[IER AR - EANERRESEESEE HOFSRR 12,406 0 a a a b b b a a A B A 2 fk e
22 b3 | BB R EE HTEER 91,552 2,039 b a a b c a - - A B A 2 ke
23 54 |FFAEIRIZE 2 HTEER 33,372 0 b a a b c b a b A B B 2 ke
24 SH|TTBI X EEBEZE o 51,278 43,345 a a a b b b a b A B B 2 ke
25 ST[EREREE o 42,345 0 b a a b c b a b A B B 2 ke
26| 122|EMEEEITEE o 51,613 4 a a a b b b a a A B A 2 ki
27|  123|EEMEEEE TR 24,107 0 b a a b c a — — A B A 2. fk s
28] 124|ATE - BE=RIEEEEHE ISR 253,181 24,371 b a a b b b a b A B B 2 ke
29| 2169|BET R EREfHEE R 4,478 0 b a a b c a — — A B A 2. fk5x
30 94 |NT R AV FAFREE A= 1,259 0 a a a a b a — — A A A R 3
31 o5 |HERERE = 1,375 0 b b a b c b a a B B A 2 5k s
32| 100[AZE - #65 XT LEREE HER 11,401 0 b a b b b a — — B B A 2.4kt
33| 102|BEMHEEZE = 11,015 0 a a a a a a — — A A A 2 5k s
34| 104\ ERMELSEE BER 6,192 0 b b a b b a — — B B A 2 fki5e
35| 105| AZEFRHMEZE = 4,399 0 a a a a b a — — A A A 2 5k s
36| 106|BkERAEZE BER 10,130 0 b a a a a a — - A A A 2 fki5e
37| 2222\ T TA T v RIEHERE BER 4,344 0 a a a a a a — — A A A 2 fki5e

1/15 =



ESM4FEE EETHITH

Ml EHREEFMERER—E (FM3FEICERLAEH)

- R3EE | R3FE HEM Izt
- 8 g - BHE | B BHE X
No. =s BR4A B RWEXR | HEMR OLEe | ommL ey f_fﬁf;m QR AE SR MEE SR EE
=) (FFA) (FFM) mR=-x B omEse o T
38| 112|ZEBEFEZEVRT LEREEEE | THEERR 641 0 b a a a c a — — A B A AL |BEEICHES
39 114|1BRFz*y b7 — U RKIGEREEBEZE | T H#eExEERR 205,347 32,450 b a a a a a — — A A A 1Lk (FEDE
40| 115(/xvav - FU v AEBERE | THEER 64,773 0 b a a a a a — - A A A 3@ [FEANRDOREL
41 116[{THIER > R T L ERAEERE | T H#eExEERR 12,618 0 b a b a a a — — B A A YR 3
42| 117|BEFHFEEREESEHE | T H#eExEERR 1,518 0 a a b a a a — — A A A 1Lk (FEDE
43 840(G | SEREESRE | T H#eExEERR 10,447 0 b a b a a a — — B A A YR 3
1| 8A1EBMR VAT LEREEEE | T H#eExEERR 250,656 1,351 b a a a a a — — A A A YR 3
45| 1083 %%A*L‘\/XT‘AL)EH';:ﬁ?% R ER 12,826 0 b a a b c a — — A B A YR 3
46| 362|HuiEBEKETE - BB hEE T ES R T RE (BT I KR 17,834 0 a a a a a a — — A A A 2 fikfs
471 363 %ﬁﬁﬁﬁ“ﬁ”ﬁ%ﬁﬁ%% EHE R SR 10,822 3,520 a a a a b a — — A A A 2 Mk
48| 364K TEEEE EHE R SR 77,823 58,420 a a a a b a — — A A A 2 Mk
49| 365|BHKITEUEIREIREE e E R 58 6,305 0 a a a a a a — — A A A LiL% (FEDE
50  366|BEMSIEMBRTIEEE e E R 58 11,277 0 a a a a a a — — A A A 2 Hkies
51| 369 |ERFRETEMEESE e E R 58 2,910 0 a a a a a a — — A A A 2 Hkies
52| 1822| K ERERRBIEHE e E R 58 5,033 0 a a a a a a — — A A A 2 Hkies
53| 1894 |BF X IERERIEHE EHERH S ER 5,196 0 a a b a a a — — A A A 2 Mk
54 2215|/NBUME A e A\ H2E e E R 58 1,448 0 a a b a c a — — A B A 2 Hkies
55| 2237|KENY— K< FEREE EHERH S ER 31,986 17,564 a a b a a a — — A A A 2 Mk
56| 2253|MEETENETIEE S R T LEEEE EHERH S ER 1,550 0 a a a a a a — — A A A 2 fk e
5711 168|773 U—-HYR—F v 2—FFE FELEXIER 7,975 5,343 a a b a b b a a A A A 2 ke
58| 169|F B CEMMESEEMIEE FELEXIER 1,139 0 a a a a b a - — A A A 2 fkfT
59 184|Z KL EEEIREE FELEXIER 709,348 83,376 a a a a b a — — A A A 1T [BEANBROFTE
60| 192|RXBERFYZIEE FELXIER 329 0 a a b a a a - — A A A 2 fkfT
61| 995|HbiFE THIEWNEZEE FELXIER 87,907 67,169 a a b a a a - — A A A 2 ke
62| 1092|EEBEXIGRTEE FELXIER 28,176 0 b a a a a b a a A A A 2 fkfT
63| 1908|F L&D - FBE CHERIEHESE FELXIER 1,967 0 a a a a a a — - A A A LILFE [BEABROFTE
64| 2070|0 & U RREE - £ TEREEEFEIIERE | FELIIER 26,467 16,455 a a b a a b a a A A A L% |FEDE
65| 2100|'REBBRULS R T LIEFAEEEE FELXIER 34,367 16,379 b a b a b b a B A B 2 ke
66| 2308|F L HRBEIGIESEE FEHLTIER 5,124 0 b a b b b a — — B B A 5.7
67| 2331|F&H DBRKETEREEE FELXIER 13,118 895 b a a a a a — — A A A 5.587T
68| 2356|MIBTFE CXIEWMSBRLENRERSEE | FLLIER 2,199 309 b a b b b a - - B B A 5.5%7T
69| 2376|FB CHBEAD AN BINIERTEE FEHXIER 149,494| 148,146 b a a a b a - — A A A 2.1k
70| 186|BMHIET R - EHFHEHE FUHRERATELY £~ 245 0 a a a b b a — — A B A 2. fk5E
71 193| REEGXHREX FEOREREXELY X — 27,015 11,548 a a a a a b a b A A B 2 Mk fr
72| 202|RERBMEHREEZFHE FUHRERATELY £~ 2,321 0 a a a a a a — — A A A 2. fk5E
73| 1280|BBEXIESHHEE FELREREXELY 2~ 1,792 370 a a b b b b a b A B B R 3
74| 1959|FED - HEBKFE FUHRERATELY £~ 4,364 0 a a b b b b a a A B A 2. fk5E

2/15 =%




ESTAEELETITHME FHEXEFMERER—E (FN3FEICERLEH)

_— R3%EE | R3EFE DHEM azb
- 8 g - BHE | B BHE X
No. =s BR4A B RWEXR | HEMR oLEt | ommL ey f_ﬁf;m QR AE SR MEE SR EE
=) (FFA) (FFM) mR=-x omfERE OB <&k
75| 2140|F B a— b AT AEE FELREREXZELY & — 489 136 a a b b b b a a A B A 2 Mk
76| 2170|BEXEBERFAEREX FUORERAETHELY £ — 900 0 a b b b b a — — B B A 2.1k
77| 2178|ERIEHR NI /N —REEE FEOREREXELY 2 — 1,290 0 a a b b b b a b A B B 2 Mk
78| 2206|FHB R AF 7 FEE FEORERAIEL Y &2 — 1,469 0 a a b b b b a b A B B 4.1
79| 2250|FED - BEEEMXIEEE FUORERAETHELY £ — 7,157 0 a a a a a b a b A A B LiLTE [FEDE
80| 2311|F FLEREHMIEZE FEOREREXELY 2 — 1,272 200 a a a b b a — — A B A 2 Mk
81| 2251|FAMIRIF B CRIEEE FETCHELYZ— 2,768 0 b a b b b b a a B B A YR 3
82| 171|FRAIRBATEESIEEE RER 35,063 5,918 a a a a a a — — A A A YR 3
83| 172|HIMREAEEESZEE RER 271,162 227,228 a a a a a a — — A A A 2 fk e
84| 173|RBLHHMESEZE RER 1,450 55 a a a a a a — — A A A 2 fk e
85| 176|MILRE AT UEEZE RER 59,489 0 a a a a a a — — A A A 2 fk e
86| 177|RERBEFIEZESRMENEE RER 215,637 144,514 a a a a a a — — A A A 2 fk e
87| 179|REREEZTEHE RER 2,910 635 a a a a a a — — A A A 2 fk e
88| 185|REERB =N BEFMBIEE RER 2,681 0 a a a a a a — — A A A 2 fk e
89| 627|FII SRS E IS EE RER 11,938 0 a a a a a a — — A A A 2 fk e
9| 990|/&R - MEBRREREEE RER 34,318 21,959 a a a a a a — — A A A 2 fk e
91| 1035|RREIMRERTIERElEEE RER 64,764 38,075 a a a a a a — — A A A 2 fk e
92| 1960| I RERME/RBREE RER 19,571 0 a a a a a a — — A A A 5.5 7T
93| 2149|FEH - FBE CXIBEATENEHEE RER 127,031 118,400 a a a a a a — — A A A R 3
94| 2150|REZ EHREBITHES X REZ 985 0 a a a a a a - - A A A 5.587T
95| 196|RTFHEEZEE HETIERESK L & — 4,660 0 a a a a a a — — A A A 2. fk s
96| 253|2<K LEEBE/NNRIETEE FEXEER 2 — 27,282 25,273 a a b a a a — — A A A 2 ke
97| 988|FEIIRR - MHIKEE FEXEER 2 — 17,361 0 a a b a a a — — A A A R 3
98| 2064 |FEXIEFPIEKREIFE FEXIEER 2 — 3,307 1,315 a a b a a a — — A A A R 3
99| 2217|HEREEIRRETIEEE HETIERESK L & — 3,807 465 a a a a a b a b A A B 2. fk s
100| 2315|FEXIEEH LY X —ERPENREE | REIEERL Y 2 — 404 330 a a b a a b a a A A A 3HEN|BEIX DR
101 1970| MR RERELEMEBE EHOER 504,641 275,465 a a b a a a — — A A A 2 fkfT
102| 1972|MGERIBE Y 7 7 HmEE EHOER 76,607 61,250 a a a a a a — — A A A 2 ke
103 1974|ZE - B EE EHOER 9,942 0 b a b b b a — — B B A R 3
104| 1975|F L FAEHKEMBIEHE FLER 411 0 a a a b b a — — A B A 2 fkfT
105| 1976|F P EB M EES HHERHEIEE FOER 3,172 0 a a a b b a — — A B A 2. fk5x
106| 1977| FEHRBRESSFBIEE FOER 9,509 0 a a a b b a — — A B A 2 5k s
107| 1978|FEV EEREASHENEE EFEOER 14,448 0 a a a b b a — - A B A 2.4k #5
108| 1979|FLEL Y 4 —EEEE FOER 10,922 1,336 b a a a a a — — A A A 2. fk5E
109| 1985\ FBE L X —BEEFE FOER 16,027 0 b a a b a a — — A B A 2. fk5E
110| 2001|REET7 vy E—F > FEBESEE FOER 57,046 519 a a b a a a — — A A A 2. fk5E
11| 2002|REREZ &6 DHEBEZEE FOER 61,636 242 a a b a a a — — A A A 2. fk5E

3/15 _=%




ESTAEELETITHME FHEXEFMERER—E (FN3FEICERLEH)

R3EE | R3FE i . BEM Azt
No. i% BRA PR & RERR | NEMR a)fif Ea);r:ul,rg Hatin f_ﬁf;) QR MEE SR MEGE 3R R
= (FFA) (FFM) mR=-x omERY oMM  TE:

12| 1654| EEMEREAREEIERE BARTER 1,308 0 b a a b c a — — A B A 2.1k %t
13|  156| R EERERREESHEE BARTER 1,122 0 b b a b c b a b B B B 2.1k %t
114 157|HbiSfRuLEES RALR SR 9,423 0 a a a b a b a a A B A YR 3
15| 158|REZRE - REZEESHERE BARTER 46,893 21,955 a a a b a a — — A B A LILFE [FERBORE
16| 159| TR ERHEIEE BARTER 172,507 0 b b a b b a — — B B A 2.1k %t
117 161|HEBHtE >y X —EBEE BUFETS R 21,370 205 a a b b b b a a A B A 2 ki
18| 166| BN BETHEE R BARTER 5,758 4,346 a a b b b a — — A B A 2.1k f6t
119 1175| MBI B E B BARTER 4,786 0 a a a b b a — — A B A 2. fki5:
120 1182|KEREEEIIAEE BARTER 953 0 b a b b b a — — B B A 2. fki5:
121| 2327|34E RERIFRIRI ERER TR (T EE BT R 21,294 0 b a a b c a - - A B A 5587
122| 2374|ERFMIEBMIHEICH T 2 B RGISRNEE [BUARTEE 1,759,498| 1,755,923 b a a b c a — — A B A 5.2 7
123| 2375|< 5 LxERHE (9%R0sBIME~OGESD) BHIEE |BULIRTESE 21,075 19,287 b a a b c a — — A B A 5.7
124 162|#REH T EKRENEE EEXIER 477 0 b a b b a b a a B B A 2 fkiee
125\ 206|BEELBEEEEREAEE fEEEALER 444,719| 192,210 a a a a a a - - A A A 2. 1kf50
126| 207|BELSEEEBUFLATIREE fEEEALER 149,470 47,630 a a a a a b a b A A B 2. 1kf50
1271 220|BERE)EFY R — FEE =R 16,358 3,450 a a a a a a - - A A A 2.1k
128 228|[BEEEHEBAIEREEEEE fEEEALER 1,565 0 a a b a b a — — A A A 2. 1kf50
129| 230|BEEELEENEEEESBMYPEE fEEEALER 32,226 0 b a a a a a — — A A A 2. 1kf50
130| 232 |EERUY - XFEFRH, LOARTBRESEE (EEEUR 32,408 0 a a b a a a - - A A A 2 fkiee
131 233|#mERESIIGEE FEEEu R 15,697 0 b b a b b b a b B B B 2 ke
132|  244|sNd WLIBRHBNEE PEERAULER 747 0 a a a a a a — — A A A 5587
133  250|FEERU Y R T LEREEEE FEEEu R 29,323 0 b a a a b a — — A A A 2 ke
134| 1029|HbIsiE IR IREE FEE @R 113,348 48,287 a a a a b a — - A A A 2 ke
135| 1032|BEEER I IEL X —EEFEE FEE @R 14,408 0 a a a a a a - - A A A 2 fk e
136| 1830|MiEEN R IE v X —FE FEE @R 46,887 7,286 a a a a a a — - A A A 2 ke
137| 1831 |FEBREZBHEIEEE FEE @R 46,393 19,951 a a a a a a - — A A A 2 fk e
138| 1833|f@HtR 7> —% - HHEMPEMREE |EERWS 24,320 0 b a a a b a - - A A A 2.4k ¥t
139 1897|fEE&E MR R M ARTEIREE FEE @R 9,252 200 a a a a a a - — A A A 2 fk e
140| 1906|FEEHEBH IR AHIEHRZE fEEEALER 64,056 24,170 a a a a a a - - A A A 2. fk5x
141 2097 |FEEEXIBFHEHEEEE FEE @R 3,152 0 a a a a a a - — A A A 2 fk e
142| 2306 |EERUY — C RAEEREBRPMENELIREE (FEEEUE 14,895 13,400 a a a a a a — — A A A 5.7
143 2307 |FEr ik B BRI EER T EMITTIESE (EEE0LE 2,535 0 a a a a a a — — A A A 5.527
144 2360|FEERUTEIRE R HEE fEERALR 7,990 0 a a a a a a — — A A A 5.5 7
15| 266|LELEYIT - WELES S TEAREDERNEE | SN ER 10,925 1,262 a b b c b b a b B C B 2. fk e
146|259V N— At v & —BERBIEE SN ER 27,386 0 a a a b b a — — A B A 2 5k s
147| 260|158 - KAV EY NERAFE SN ERR 26,935 0 a b b b b b a B B B 2. fk5E
148] 261|MERERVTNMBEEE S ERR 44,121 0 a b b b b b a B B B 2 fki5e

4/15 ~—=




ESTAEELETITHME FHEXEFMERER—E (FN3FEICERLEH)

_— R3%EE | R3EE . . BEME azxp

il &= s AiRE REER | REMR G‘J:L'iitg E@';-:'JLE RIS f_ﬁf;;) RMEE DR M DX REIE
= (FFA) (FFM) mR=-x omERY oMM  TE:

149 262|MEBERIMFeIIREE SN ER 35,590 0 a a a b b a — — A B A 2.1k %t
150 266|EERY —EXEHE S E R 395 0 a b b b c a — — B B A 2 ki
151 268|RBBWI AT LRESE S E R 10,589 0 a a b a a b a b A A B 2 ki
152 269|ENERMEFY - NEEEFEIIREE |BHNER 51,876 0 a b b b c b a b B B B 2.1k %t
183| 275|mkEEEWEXIEEE SN ER 1,394 0 b b a b c a — — B B A M | BENBRDOREL
154 276|BEENF—LENEETEESEE SN ER 117,626 0 a a b b b a — — A B A 2.1k %t
155 277|ZABUEL VXA —Z ERNEHEBESEE [SHNER 20,830 0 a b b b c b b b B B C 3N |BFERNBOREL
156| 279| LETSmEEAEE - N ERRELHEEESE [SHNER 1,295 0 a a a a a a — — A A A 2 ke
157 280|NEY—E XA BEEIBBREE SN E R 64,913 0 a a a a b a — — A A A 2 fk e
158| 798| HMIRIRE BIEEFEREE ST 41,639 0 b a a b b a — — A B A 2. 1kf50
159 799|HRRMUNE SN ER 43,877 50 b a a a a b a a A A A 2 fk e
160| 1022|#hISiBIEXIEY X T LBEABEEE SN ERR 9,742 0 b a b a a a — — B A A 2. 1kf50
161 1252 @ATRLNEE TR EE =i R 0 0 a a a a a a - - A A A AEIE |TBEZEICHEE
162| 1254| N EFRHE REFEBE SH N ERR 20,909 0 b a b b b a — — B B A 2 fkiee
163| 1255|NEFBHT 7RI X v FEE SH N ERR 49,625 42,369 b a a b c a — — A B A 2 fkiee
164| 1256|nelansiE - wrgE - aEnsEn IO Y b 2EEE | SN ER 208,463| 168,212 a a a a a a — — A A A 2 fk e
165| 1257 | RIENEXIEEE SH N ERR 11,926 9,509 a a b b b a — — A B A 2 fkiee
166 1260|HbIENEFIH EENTIEEE SN ER 14,527 11,006 a a a a a a — — A A A LILF |BERNBROFTRE
167| 1264| N EEHREIREEE SH N ERR 1,321 95 a b a c b b b a A C C 2 fkiee
168| 1268| BN EY — L XBEEE[fHEE i R 75 0 a a b c c a - - A C A 2.4k ¥t
169| 1310|/MEEfa(TEBEIE(L B S ERR 3,257 1,113 a b b c c b a a B C A 3MEN | BEANROREL
170| 1427| N e H B EHRBh R i R 301 0 b a b b c a — - B B A 2.4k ¥t
171 1457 | AN EFRIEE =i R 150 0 a a b b b b a a A B A AELE [BEZEICHES
172 1458|R R RHIER A IEEE =i R 2,213 698 a a b a a a - - A A A 2 fk e
173 1725\ EEXIEL Y 4 —EEEHELEE |SHNER 1,301 79 b a a b b a — - A B A 2.4k ¥t
174| 1827|WATRLRRAE FRHE 2 S ERR 16,998 13,557 b b a b b a — — B B A 2 ke
175 2045|HIHEIET T X T LHEESEE =i R 73,830 57,069 a a a a a a - - A A A 2 fk e
176 2050| RN EFRHBEEHE =i R 649 437 a a b a a a - - A A A LT |BEANBRORE
177| 2110|NEFBH - £EXIEY —EREE S ERR 400,640 349,507 b a a b b a — — A B A 2 ke
178| 2227|FR R R A ER RIREEZE =i R 2,678 0 a a b a a b a a A A A 2 fk e
179| 2313| N Y — E RFEMERLENRIIEERE |G N ER 25,501 0 b a a b b a - — A B A 5.7
180| 2333| N EEAMRRIRIERESR S 3,007 0 a a b b a a — — A B A 2. fk5x
181| 2350|ZBATCALADRES ERMBHEE SN EE R 7,495 5,111 a a a a a a - - A A A 2.4kt
182| 2361|MEEFBH/ S 7 Ly MRS S ERR 8,593 8,057 b a b b a b a a B B A 5.527
183| 289|fEtHRIEE {ERRIEER 14,934 299 a a a a a a — — A A A LT |BEANBROKE
184 297|HBR(E)HEE RERIEHERR 302,735| 19,578 a a b a a a - - A A A 2.8k
185| 298|fEEEIEERZE ERRIEER 14,048 491 a a b b b a — — A B A 2 fki5e

5/15 "=



ESTAEELETITHME FHEXEFMERER—E (FN3FEICERLEH)

R3FE | R3FE i . SEME Azt
No. if BRA PR & RERR | NEMR a)fiitg Eﬂ);r:ul,rg Hatin f_ﬁf; QX EGE 3R MEGE 3R R
= (FFA) (FFM) mR=-x omERY oMM  TE:

186  300|EERMRAEEHEE R fERRIEER 7,816 0 a a a b a a — — A B A 2. fki5:
187| 316|BFEES - BFREHESTMEE fERRIEER 2,371 0 a a b b b a — — A B A 2. fki5:
188 318|MEE O Y IHESEE I ER 2,423 0 a a a a a a — — A A A YR 3
189 319| B4 ENEHERE I ER 4,449 0 a a a a a a — — A A A 2 fk e
190 324|FRfEL Y X —BEEZEE I ER 10,933 228 b a a a a a — — A A A 2 fk e
191 326| LEMEMSFEEIEE I ER 11,120 0 a a a a a a — — A A A 2 fk e
192 330|MBEEAFIEmMEBEE I ER 130,540 15,758 a a a a a a — — A A A 2 fk e
193| 1157|FHFAMEESEE fRERIEHER 8,128 0 a a a a b a — — A A A LT |BEABDORE
194| 1168| MR FREBRHBE M EE fERRIEER 22,980 0 a a a a a a — — A A A 2. fki5:
195 1163|1TiR{REEZE BEIEER 142,097 0 a a a a a a — — A A A R 3
196| 1462|HREL Y X —BEEZHH EERIGERR 18,383 1,280 a a a b c a — — A B A 2 fkiee
197 1616| ML ABEESBIKNEE BRI ER 15,040 0 a a a a a a — — A A A 2 fk e
198| 2072|%HHk - HESEXIESE RIS R 13,981 0 a a a a a a - - A A A 2. fiki5E
199| 2096|E~ A L — P HHE EERIGERR 5,098 625 a a b b b b a b A B B 2 fkiee
200| 2155|FB CRIBBEWME A LT —EXBHE H2ERIEHERR 1,525 0 a a b b b a - — A B A 2.fk#T
201| 2168|/NA U R U ERXIREZE BRI ER 1,551 0 a a a a b b a a A A A R 3
202| 2296|F AL O F VAL RIFEEEE EERIGERR 11,478 6,433 a a a a a a — — A A A R 3
203| 2309|MEIRIGIE R 7 ¥ —FI BRI EBIESE RIS R 8,077 5,748 b a a a a a — - A A A 2. 1kf50
204| 2345|FEL OO S VA INRT U F viEEERE fERRIEER 1,639,187| 1,568,573 a a a a a b a a A A A R 3
205| 2346|EEMEAERIEEIREE EERIBERR 69,201,502 ######## b a a a b a — — A A A 5.7
206| 2358|BEBEEERIEEXE TR R 26,780 21,086 b a b b b b a a B B A 2 ke
207 1718|avE=Zzo 22 T ICBIF A EREERFEE |THRE 31,875 0 a a a a a a — — A A A 2 Mk
208 1965|HIRFTEEEEFHE MR 5,331 0 a a b a a a — — A A A 2 fk e
209 2B BB EEEE R IR EHEER 12,245 1,188 b a a a a a — — A A A 2. fk s
210  26|HiEIEEIHEETE mRIBEHER 58,656 0 b a a a a a — - A A A 2.4k ¥t
211 27| ZFTBEEESEE TR B ENHEERR 27,056 503 b a a b b a - — A B A 2 ki
212 28| E TSR BB EE T RIBENHEER 14,850 0 b a a a b a - - A A A 2.1k
213 9|3 2=Ta v EBREEEE TR B ENHEERR 64,674 645 a a a b b b a a A B A 2 ke
214 30|44 IR ELEBEESEE TR B ENHEERR 130,525 48,401 a a a b b b a a A B A 2 ke
215 31|t k—EEEEEE TR B ENHEERR 140,894 2,380 a a a b b b a a A B A 2 ke
26|  37|EBERAHATIEEE R EH#ER 6,235 0 a a b a a a — - A A A 2.4k ft
217 38|FERLFAIHEE T RIBENHEER 924 0 a a b b b a - - A B A 2.1k
218 PABRATREZIESRE R B ENHEER 7,623 1,165 a a b b b b a a A B A 2 fki5e
219  40|TRABHEE mRIBEHER 8,555 0 b a b b b a — - B B A 2. fk#t
2200 860|—Mx3 I a=7 1 BhRkEZE R B ENHEER 10,897 10,000 b a a a b a — — A A A 2 fki5e
221 1478| T REEBIXIEL v X —EEEEFE R IBEHEER 16,861 0 a a b b b b a a A B A 2.4kt
222| 1672|BBDEH I Y HEERE R IBEHEER 5,184 0 a a a b b a - — A B A 2.4kt
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223 2104|232 =T 4 £V X —RRRBLESHE R BEHEER 1,490,421| 1,447,300 a a a b b b a a A B A 5.7
224| 2347|BiAaXiEEXREE R BEHEER 10,550 0 b a a a b a — — A A A 5.7
225 1989 B EEMEAREE HEEFCEY X — 8,885 138 a a a a a a — — A A A 2 fks
226 1990 ’BEEMEFB KB HEEFCEY X — 5,849 81 a a a a b a — — A A A 2 fk e
227| 1991 BEEBHBREBE HEEFCEY X — 14,161 169 a a a a a a — — A A A 2 fk e
228| B44|ERFEEREBE RIRFEHR 2,942 103 a a b b b a — — A B A 2 ki
220  741|ERERFRMEREREUNEE REEEER 17,579 445 a a a a a a — — A A A YR 3
230| 758|HEBR—FE REEEER 55,128 0 a a a a a b b b A A C 2 fk e
231 767 IE{LF?T%@%‘ EILREE RIEFEER 523 151 a a b a a a — — A A A 2. fki5:
232  768|REE KRB RIRFER 41,526 15,333 a a a b b a — — A B A 2 fkiee
233| 1114|HEREDZE - HEREIEEEE REFEER 208,865 57,598 a a a b b a - - A B A 2. fiki5E
234| 11650| 2 imimERELTEE RIRFER 170,298 127,180 a a a b a a — — A B A 2 fkiee
235 1172|RiminEREE REE RIRFER 20,395 9,848 a a a b a a — — A B A 2 fkiee
236 2016|MERAEBEEIE(L TR REZE RIRFER 11,153 9,516 a a b b b a — — A B A 2 fkiee
237 b|$kiEEX D IEaHE T ZBBHICER 2,726 0 b a a b b a - - A B A 2. fk5:
238|  352| N REHEFTEEE RBIHILEER 209,441 480 a a a a a a — — A A A 2 Hkies
239| 354|ME BEREREE RBIHILEER 23,963 0 a a a a a b a a A A A R 3
240 355|BEREBIEIGEIREE R RIBBHICER 35,374 61,046 b a b a a a — — B A A 2 fkiee
241 356 Tﬁﬁ%ﬁﬁ&iﬁéﬂ_ - BEEEE RBIHILEER 122,308 96 a a a a a a — — A A A 2 fk e
242 359|RBRAET RIEHEE BRG] IEES 6,360 0 a a a a b a - - A A A 2 ke
243 360|RBEALMEREAAEE SRR BRG] IEES 4,912 0 b a a b b a - - A B A 2 ke
244  367|BHICIEENHERESR 2 BRG] IEES 6,110 368 a a a b b a - - A B A 2 ke
245|  368| LEBHICEEATEREE BRG] IEES 9,350 0 b a a b b a — — A B A 2 ke
246 2060|ZRENKEE ESEIGEEES 81,404 0 a a b a a a — — A A A 2 fk e
247| 2256 BIn R FFAL B BIRINE IEE ESEIGEEES 1,875 0 a a a b b a - - A B A 2 fk e
248| 2373| R EBEAR/ N R PR TAS = i SRE 2 BFHICER 3,515 2,920 b a a a b a - - A A A 5.7
249 A BrHRESEHESE ANEBLZHRISER 7,155 0 a a b a a a — — A A A 2. fk s
250 45| R AR EE ANEBLZHRISER 2,246 0 a a a a a a — — A A A 2. fk s
251 130| AMERSFEHEHES 2 ANEBLZHESER 6,730 220 a a a b b a - - A B A 2 ke
252| 1518|RIERFIER R EE MNEBLZHRASHEBR 96 0 b a a b a a - - A B A 2 fk e
253 1715|D VISR IEEE ANEBLHRSERE 11,608 0 a a a a a a — — A A A 2 5k s
254 372|RIBREFAEREREE RIBBUERE 647 0 a a b b b a — — A B A 2 fki5e
255 37| RIBEEEEFE RIFHBURR 1,950 0 b a a b b a - - A B A 2.4kt
256| 374|IRIBHEERESES FE IRIEBRE 7,552 0 a a a a a a — — A A A 1LiLF [BEABOFTE
257|  375|FRIEL Y X —BlEEE IRIEBRE 535,803| 504,991 a a a a a a — — A A A 2 Hkies
258 376| LEFRFEH OO ULNEEEEFE RIFHBURR 203,315 406 a a a a a a — — A A A 2. fk#t
259  A37|ERERHEEE RIBBURE 68,756 0 a a b b a a — — A B A 2. fk5E
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260 1117|HECERBR(C I FHEETE RIBBURR 513,711 0 b a a b b a — — A B A 2 fkie
261| 1600|MERRBEL I REITAHBEIRE BEE BREBORR 3,843 1,708 b a a a a a — — A A A 5587
262| 1775|BBI NS WLIHEEELEE RIBBCRR 15,764 0 b a b b b a — — B B A 2.4k
263| 1966|FEEMHESHLEREEEEE REBEURE 1,896 0 b a a b b a — — A B A 2.1k %t
264 2108|AGECO Sty | effESRs IRIBBUGRR 1,222 0 a a a b a a — — A B A 2 fikfs
265 386|IREBEMIRERZE EERER 10,809 0 a a a b b a — — A B A 2.1k %t
266| 388|EIEERIBREE EERER 784 0 b a b b b a — — B B A 2.1k f6t
267  390|/NELEHHALIE R L RE SRR IR ERIRER 18,007 8,368 a a a a b b a a A A A 2 fk e
268| 392|IRIBHAE - BEBE ERIRER 31,489 273 a a b a a b a a A A A 2 fk e
269| 1236|H FBUER IEEE EERER 3,765 1,000 b a a a b b a a A A A 34 | BEO—BRET
270 1634|Eh & DL RHERERE EERER 2,086 0 b a a b b a — — A B A 2. 1kf50
211| 2034| BERET REE EERER 3,485 0 b a a b b b a a A B A 2. 1kf50
272 2101|EVEDO WA WEORT - ERFMIIREE |EEFRER 1,788 0 b a b b b a — — B B A 2 ki
213| 2137|HESREYEIREE ESERIER 7,479 3,077 a a b b b a - - A B A 2.5k
214|401 | BN EFREERRE REGE 290 0 b a a b b a — - A B A 2. fk5:
215  404|BEFKEBEMEE REGE 1,630 0 a a a b b a — — A B A 2. 1kf50
216|  405|BERIEEST FHEEE e 2,831 0 a a b b b a - - A B A 2. 1kf50
217\ 406| [HIFHEATH] IEEE BEGE 2,300 0 a a a b b a — — A B A 2 fk e
218 A07|BEZEBRIBERESETEEMEE |BEGE 2,244 0 b a b b b a — — B B A 2. 1kf50
219  AOS|EEIREMESESEE BHGE 2,368 0 a a a b b a - - A B A 2. fk5x
280 412|BEBMEBREE REGE 744 0 a a b b b a - - A B A 2. fk5x
281 413|TREEBEEESRE BHGE 10,584 0 a a b a a b b b A A C 2.4k ¥t
282 837|BERAHIKEEBEEE BHGE 1,774 0 b a a b b a - - A B A 2. fk5x
283 1122|ZEMBEELIEEE BHGE 7,685 2,974 a a a a b a - - A A A 2. fk5x
284| 2147|REIRBEEFHEH BHGE 6,676 316 a a a a a a — — A A A 2 fkfT
285| 2148|E=IREIEFBNEZE BHGE 2,030 0 b a a b b a - - A B A 2. fk5x
286| 2180|777 U Y R—K —BREE REGE 3,266 0 b a a b b a - - A B A LILFE [FERBORE
287| 2372|MEREERBMS ST R EE BHGE 3,673 3,152 a a b b b a - - A B A 5587
288 418|7TH 2 2EEEE [SEEEY 12,570 1,713 b a b b b a - - B B A 2.1k
289 4A21|EIREATERBIEE NN 34,035 8,099 a a a a a a — — A A A 2 fkfT
290  A22|BNIH B EE SRS 127,344 102,922 a a b a a a - - A A A 2.1k
201  423|R/NRERE H > Y ABE AR 7,931 1,330 a a b b b a — - A B A 2.4k ft
292|  426|EHEBBUY —E RV X —FEIEE AL 49,862 0 a a b b b b b b A B C 2. fk#t
23| A27|BHEEETECEMEE AL 180,150| 180,000 b a b a b a — - B A A 2. fk#t
204 428|HEFIAHINEE AL 378 0 b b a b b a — - B B A 2. fk#t
295| 430|7—0 TV HIFEEEELEE AL 2,655 0 a a a b b a — - A B A 2. fk#t
296| 1944|F/NEEYR— FHEE AL 24,187 17,542 a a b a a a — - A A A 2. fk#t
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297| 1948|EEZEIREHEETZE LR 13,026 2,243 a a b a a b a a A A A 2 ki
208 2218|HIFTBHLE - BH L X —BHEESEE |BLIR 10,863 0 a a b b b a — — A B A 2 ki
209| 2297|dnpxiEEE FRanF v (L BREREEE] | TR 1,029 354 b a a a b a — — A A A 3HEN | BEEDR
300 2303|ErezErmemerress FRanr v L mpEnEEE) R TR 5,829 4,554 b a a a b a — — A A A 5587
301| 2343|IEEHETIEEE [ 50,679 40,857 a a a a a a — — A A A YR 3
302| 2348|EFREBNRR B [ 2,300 800 a a a c a a — — A B A 5.7
303| 2362|%/ - MR EEEEEREIIESTE |WIE 89,512 87,200 b a a a a a — — A A A 5.5 7
304| 2363|EREJE RS IEXTRE LR 2,078 1,853 b a a a a b b b A A B 5.7
305 436|BES 7V TV FEEESEE (AESREtLYX— 161,765 1,188 a a a a a b a b A A B 2 ke
306 439|FAMMYYA I ILEE AEFRREL Y 2 — 974 602 a a a b b a — — A B A 2 fkiee
307|  440|EREIUNEFEZTEE AERREL Y &2 — 52,852 7,751 a a a a a a — — A A A 2 fk e
308| 442| T ALy - EIRETEEE AERREL Y &2 — 100,056 57,251 a a a a a a — — A A A 2 fk e
309 443| T HINERFEEE AEFREL Y &% — 684,575 181,757 a a a a a a — — A A A 2.fk#T
310| 444 |FRIRINDEE MERREL Y &2 — 203,901 0 a a a a a a — — A A A 2 fk e
311  448| T AHINEEMEIREHE HERREL Y &2 — 23,990 0 a a a b b b a a A B A 2 fk e
312| 4A9|BERREt Y 4 —EEEEERHE BEFREL Y % —| 1,577,458 541,817 a a a a a a — — A A A 2.fk#T
313  455|H DK YIHERFEESEE EBIETHERR 1,488 0 a a a a a a — — A A A R 3
314|  456|THRE D W EBIHIESE EBIETHERR 9,860 0 a a b a a b a a A A A 2 fk e
315| 457 |EP M ETEIEARMEREE #HETER 660,744 83 b a a a b b a a A A A 2 ki
316| AB8|EHAEIEESEEEHE W EHE R 1,545 0 b a a a a b a a A A A 2.1k
317|  AG4|EPTHEAHENERRIE L F# W EHE R 6,098 0 a a a a a a — — A A A 2.1k
318| 2224 |EPHETEIHEETE W EHE R 744 0 a a a a a a - - A A A 2.1k
319  A78|RAILERE - L X EEEIEE T EE R ER 175,048| 130,900 a a a a a a - - A A A 2.1k
320 1913 | MR IEEE TR 12,265 0 b a b b a a — — B B A 2. fk5x
321| 1052|BAFEEYMEIRESE BERDR 12,071 4,947 a a a b b a - — A B A 2.fk#6T
322| 2229|FEHMI B HEETE 2 FFIEER 3,573 0 a a a a b a — — A A A 2 fk e
323 482| L NEEEEE HEY NEE 25,833 0 a a b a a a — — A A A 2. fk s
324 483|ALANE/NE D —F —EfEEE HEY NER 32,991 1,017 b a b b b b b — B B C 2 ki
325  486|.5:% & & DIRO MRS EE HEYRNE 3,413 0 a a a a b a — — A A A 2. fk s
326| 489|FIG/NEEEEE HEY NEE 10,110 0 a a a b b a — — A B A 2. fk s
327 4904 ERMEZE HEY NEER 10,070 0 a a a b b a — — A B A 2 fki5e
328 A91|FEERIMREFERE HEY NE 1,179 0 a a a b b a - — A B A 2.4kt
320 42| ANEEEEE HEY NEE 25,344 18,100 a a a a a a — — A A A 2 5k s
330 493|HHARFEEBEEEEE HEY NEER 505,685 10,516 a a b a a a — — A A A 2 fki5e
331 494 |ZePgHbEE IR HEWAE 11,330 0 a a a b b a — — A B A 2 fkfT
332 496| 3 NBH LV DHEHEE HE W AEER 21,308 0 a b a c b b a b A C B 3N | BERNBOREL
333|497 EIBERE HEY REE 22,202 100 a a a b b b a a A B A 2.4kt
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334 500|BAFEEREREXE HEY NEER 1,070 0 a a b b b b a b A B B 2 ki
335  501|HiBNEEBRHEESE HEY NEE 2,556 0 a b a b c a — — A B A 2 fk e
336| 507 EEHIBRAMAEIRESEH EREER 14,839 0 b a a a b b a b A A B 2.1k %t
337  514|EHEREMBE BREEHR 29,055 0 b a a a b b a b A A B 2 ki
338 516|EHIEREREE BREEHR 26,227 66 b a a a b b a b A A B YR 3
339 S17|NHEESEREE BREEHR 3,888 0 b a a a b b a b A A B YR 3
340  545|ERTHIEARA LTI SEE BEREER 4,512 0 b a a a a a — — A A A 2 fk e
341 BAT|AII TR KB RE (R TR 3 BEREER 2,240 0 a a a a a a — — A A A 2 Hkis
32|  BA9|KERIBRAEREE BEREER 7,978 3,143 b a a a b b a a A A A YR 3
343| B551|MEEEIEEE BREER 2,497 710 b a a a a a — — A A A 2 fk e
344 1053| EEBRBRAEILGERE BEREER 22,124 945 b a a a b b a b A A B 2 fkiee
345 1138|/KEE B IREEMBZE BEREER 2,500 1,012 b a a a b b a b A A B 2 fkiee
346| 1208|MIKETEBHEEL S B S MBS BREER 2,408 0 a a a a a a — — A A A 2 Hkies
347 2209|311 B518 H X T EEBEE uxaf%% 2,092 500 a a a a a a — — A A A 2 fk e
348| 465| LREERREREESE Al ER 3,142 0 a a a a a a — — A A A 2 Hkies
349|  466|FBECEEERERRESE T)Hu% 1,894 0 a a a a a a — — A A A 2 fk e
350 510|METFER Y TRIEEEEEE NIES 14,620 0 b a a b c a — — A B A 2 fkiee
351  B22|HKEREE =SEE: 88,852 0 a a a a a a — — A A A R 3
352| 524 |FhEEfEEE =SEN = 1,718 0 b a a c c b a a A C A 2. ffen
353 525|EESUREE ETE% BlES 74,967 48,674 b a a b b a — - A B A 2 ke
354| 526|&HEEHEKEE BRI FR 66,946 0 b a a b b a — — A B A 2 ke
355| G28|EREALE - BERBREE ber=SaiES 28,967 0 b a a b c a - - A B A 2 ke
356 529|1 - 2 fEREREEE ber=saiES 81,021 0 b a a b b a — - A B A 2 ke
357  530|EEEREEEE ber=saiES 69,133 0 b a a b b a - - A B A 2 ke
38| 532|EAEEI R T LEREEEE BRI FR 4,195 0 b a a b b a — — A B A 2 ke
359|  B37|ZIERTH R AKEREEE - BIRE BRI FR 66,629 18,557 a a a b b a — — A B A 2 ke
360| 539|&PH FKEEEIREZE BRI FR 22,624 0 a a a b b a — — A B A 2 ke
361| 540 %M TREER - EEEE BEAIIER 144,861 116,400 a a a b b a - — A B A 2.fk#6T
362  S42|ZERAIRTB)ISEE BRI FR 16,719 4,458 a a a b b b a a A B A 2 ke
363  543|ZEMAA)I ER R BEEE BRI FR 18,417 2,600 a a b a b a — - A A A 2 ke
364 HA4|ZERA) IR B E % BRI FR 90,489 69,018 a a a b b a — — A B A 2 fki5e
365 546|EEIA) I EfE - BEEE BRI FR 24,482 8,000 a a a b b a — — A B A 2 fki5e
366 HAS|TAEMEIREE BRI FR 8,884 0 a a a b b a — — A B A 2 fki5e
367| 553|BEKEEEIREE BRI FR 27,420 0 b a a b b a — — A B A 2 fki5e
368| 554 |TBJIIREEREREE ber=SaiES 4,933 0 a a a b b a — — A B A 2 ki
369 1005|AZKISHREZE BEAIIER 3,814 0 b a a b b a - - A B A 2.4kt
370 1046| BB R L EXIHREHE BRI FR 157,374 0 b a a b b a — — A B A 2 fki5e
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371 1472| S TR EREHEE pel ST 235,143 103,750 a a a a a a — — A A A 2 fk e
372| 1604|2) 1B EfHEZE EEEAT) 5 29,303 24,500 b a a a b a — — A A A 2 ki
373 1640|158 Y & 5> BIREE EEEAT) 5 37,639 25,613 a a a a b a — — A A A 2 ki
374 1732| LEBERRTFX MU T Ty ¥EE\BEE | BRA)IE 178,521 86,150 a a a a a a — — A A A 2 fk e
375| 2063|EE CEEE AN EMBEE BRI R 5,491 0 a a a a a a — — A A A 2 fk e
376| 2183|BERE L — v EfFHE EEKWH;‘% 7,490 3,750 a a a a a a — — A A A 2 Hkis
377| 2242 EKEEIREE AR 744 0 a a a b b a — — A B A 2. fkie
378| 2344|FIBNEEDEREFEEE S uﬂ)”é‘% 372 0 b b a b b a — — B B A 2 ke
379[10002| E F/KERTEEREXE RERBE 22,310 0 b a b b b a — — B B A 2 ke
380( 10003 | A F B RERBER 0 0 b a b b b a — — B B A 2 fkiee
381  771|ZHEEIESEEMINGEE ESE e 14,388 0 a a a a a a — — A A A R 3
382|  T73|IEKETEEMEE ESE e 48,524 0 a a a a a a — — A A A 2 Hkies
383  780|KEBRTE REE ESE e 6,378 0 a a a a a a — — A A A 2 Hkies
384 781 FAKIEE AR IR U ESE e 105,115 0 a a a a a a — — A A A R 3
38510006 | A EREH R U L - FAERSHINEE ES7 169,504 0 a a a a a a - — A A A 2. fk5:
386 10010|#A7kEE T EEIE{L E2E ESE e 57,824 0 a a a a a a — — A A A 2 fk e
387| 10031 |V EEHEE KB MR R 409,617 0 a a a a a a — — A A A R 3
388( 10032 |FT R BL /K EEfmEE KB MR R 40,465 0 a a a a a a — — A A A 2 fikfs
389[ 10033 |#AakEfmE 2 KB MR R 76,777 0 a a a a a a — — A A A 2 Hkies
390| 10036 | FHEAE IHE MR KBHEER R 137,976 0 a a a a a a — — A A A 2 fk e
391| 10037 | EMERETHAT R KBHEER R 16,873 0 a a a a a a — — A A A 2 fk e
392 10042 |7k EREFHE S EIREE FSEYiE ] 1,722,850 0 a a a a a b a b A A B 2 fkies
393( 10044 |78k IGEHEE FSEYiE ] 204,776 176,300 a a a a a b a b A A B 2 fkies
394[ 10048 | KEEEEZ KEMER R 50,962 0 a a a a a a — — A A A 2. fk5x
395 10049 |TRKBH L X R EZE FSEYiE ] 217,589 0 a a a a a a — — A A A 2. fk s
396 TT4|RNETKEEREMERE TAKENERR R 1,093,289 984,828 a a a a a b a a A A A 2 ke
397|  782| RV TIGEEEESRE TAKENERR R 311,191 959 a a b b b a - - A B A 2 ke
398| T83|AHTRKEBEREEBEHE TAGBRERZR 75,720 0 a a a b b b a b A B B 2. fk5x
399  784| FAREARIREMESE TAKENERR R 13,520 0 b a a b b a - - A B A 2 ke
400 1872| F/KEBHEZR kv /vy X v MtEIHEESE | FTAKERKZ 175,239 90,200 a a a a a b a a A A A 2 ke
401  560|HBFEEEHEZE TEBA TS ER 34,850 1,595 a a a a a a — — A A A 2 fki5e
402|  562|BIEEED FE SHBFR ISR 67,599 850 a a a a a a — — A A A 2 5k s
403 563 HBAMERY EIEEE JEBS TS ER 60,892 15,896 a a a a a a — — A A A 2 fki5e
404 566|HBHHLES REEEEE SHBHR ISR 26,946 0 a a a a a a — — A A A 2 5k s
405| SET|HBFEEBEEEE SHBA TSR 734 0 a a a b b a — — A B A 2. fk5E
406| 568|HEIRALEEE SHBFR ISR 6,694 0 a a a a a a — — A A A 2 5k s
s07| 1631|EEBERMmOBTEMELEE SHBFR ISR 54,239 53,500 a a a a a a — — A A A 5.5 7
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R3FE | R3FE i . SEME Azt
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= (FFA) (FFM) mR=-x omERY oMM  TE:
408| 571N FRHREFEE BduE S 14,325 480 a a a b b b a a A B A YR 3
409 577\ KKRRAEEE bdIE] 9,695 442 a a a a a a — — A A A YR 3
410 565 EPHEMEEEE S 154,500 71,509 a a a a b a — — A A A YR 3
1| 573 EBAKFEEEE S 31,895 0 a a a a a b a a A A A 2 Hkis
12| 574 AT 4 ALY b O — LRG| EEEE S 3,897 0 b a a a a a — — A A A 2 Hkis
43| 575|HEBERBIIEEE S 5,430 0 a a a a a a — — A A A 2 fk e
414| S578|BEHEMEEZEE Ed0 4,450 0 a a b b b a — — A B A 2. fki5:
415|  579| BEHEBIE MR EEEEE Ed0 895 0 a a a b b a — — A B A 2. fki5:
416| 1750| KRR KET R EMWMEFRZE Ed0 5,562 0 b a a b b a — — A B A 2.1k f6t
417| 2191| A E DEREHSEE 0 3,805 0 a a b a b a - - A A A LIEFE [FERBORE
418 582|IETHEREIREE & oE 322,693 219,107 b a a b a a — — A B A 2 fkiee
19| 576|LRFELETREE EIER 7,047 0 a a a a a a — — A A A 2 fk e
420 586EMHEMEEEE EIER 4,328 0 a a a b a a — — A B A 2 fk e
421  587|ERS - MBI ERMEMEE EIER 15,298 0 a a a a b a — — A A A 2 fk e
422 B91|FRBERMEMEBEE EIER 21,610 6,309 a a a a a a — — A A A 2 fk e
423 52| ERENEGEEEEE EIER 1,997 0 b a a b a a — — A B A 2 fk e
424 972|N B C K ENHEH% EIER 2,539 0 a a a b a a — — A B A 2 fk e
425|  596|REREREIERREE HEERAER 28,810 0 b a a b b a - - A B A 2. fk5:
426 597 |ERSBIRERITEH EERER 12,411 18 b a a b b a — — A B A 2 fkiee
427 HO8|EBANEEEBEE EEATR 5,308 0 b a a b b a — — A B A 2 ke
428| 1596|:EHEIEEHE EEATR 5,260 0 b a a b b a — - A B A 2 ke
429 2189|FFE= | C TH#H#ESEx EERER 13,810 10,583 b a b a b a — - B A A 2 ke
430 59|HBBEEREEEE BEMBER 14,080 0 b a a a a a — — A A A 2 fk e
431 O3/ NEREBEEEEH BERER 896,689 422,891 a a a a a b a a A A A 2 ke
432]  B04|/NEROVE 21— X E(HEEE BEMBER 337,610 93,181 a a a a a a - - A A A 2 fk e
433|  BO5|/NFREEEHRE BERHZ 15,889 0 a a a a a a - - A A A 2. fk5x
434 B606|/NFRBBBMEMEE BERHZ 17,467 1,216 a a a a b a - - A A A 2. fk5x
435 6l1|HRFREBEEEE BEMBER 562,271| 319,031 a a a a a b a b A A B 2 fk e
436 6l2|HhFR IV E 1 — R EfEE BEMBER 159,655 52,520 a a a a a a - - A A A 2 fk e
437] 13| PERREEMmEE BEMBER 12,069 0 a a a a a a — — A A A 2 fk e
438  6l4| R ERBBEHMEIEE BERHZ 14,386 1,054 a a a a b a — — A A A 2. fk5x
439  GLB|HMEEBEEFE BERHZ 1,869 0 b b b b b b a a C B A 3.4 | BEEDOR
440  622|FRIRIEEAHEMET BERHZ 69,302 0 b a a a b a — — A A A 2. fk5E
441 624 ANFHfER - BPEEMNEE BERHZ 5,234 0 a a b a b a — — A A A 2. fk5E
442 1470| BB IREEATBIRESE BERHZ 297 0 b a a a a a — — A A A 5587
443| 2337|FR B BB ESE HEREE 33,668 0 a a a a a a — — A A A 2 5k s
444 B28| NEHBEHEHERZE FEFER 10,733 0 b a a b b a — — A B A 2 fki5e
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445 G| NEHBERFTEZE S EFER 10,763 0 a a a b b a — — A B A 2 Mk
446 B30 NEHBERAEREX EFER 14,060 411 b a a b b a — — A B A 2 ki
447 632 *i’*?ﬁlaé%i’ﬁﬁ?xLE—;?% EFER 2,321 0 a a a b b a — — A B A 2 Mk
448  B33|EEFEIEEER TEIHESE EFER 1,986 0 a a a b b a — — A B A 2 Mk
449 634 %‘i%?ﬁlﬁ HERmEI S EFER 2,112 35 a a a b b a — — A B A 2 ki
450  B36|REHBEHESZE EFER 1,709 0 a a a b b a — — A B A 2 Mk
451 637|RRARETE EFER 4,320 0 a a a b b a — — A B A 2.4k
452 B38| NEREBFEEEE EFER 4,808 109 a a a b b a — — A B A 2.4k
453 G| NEREEEEEEEE EFER 124,281 25,718 b a a b b a — — A B A 2 ke
454 BA2| NREEEEEZSEZSEE EFER 1,031 0 a a a b b a — — A B A R 3
455 GA3|FRIEHFAM(EEFE)EE EFER 1,156 0 a a a b b a — — A B A 2. 1kf50
456 644|530 L =THREISEZE EFER 12,554 492 a b a b b a — — A B A 2 fkiee
457 BAT|ERTHF ¥ 7 ) —BEEZLEE EFER 21,222 1,491 a a b b b a — — A B A 2 fkiee
458  BAS|SUILEAFRE - RIFEH EFER 7,992 18 a a a a b a — — A A A 2 Mk
459 GA9|SULEIRERZSESEE EFER 1,196 0 b a a a b a — — A A A R 3
460  650|1BEIIL A AESEE EFER 8,840 1,500 a b b a b a — — B A A 2 fkiee
461 652| S L BFRERRKEE EFER 6,141 0 a a b a b a — — A A A R 3
462|  653|EFRERAESRE EFER 5,864 3 a b a b b a — — A B A 2 fkiee
463  654|HEIEBENERVERNEETREE EFER 1,493 0 b b a b b a — — B B A 2 Mk
464 1727\ KRFH & DEE (L 2L EFTHESRE EFRR 1,745 0 a a a a b a — — A A A 2 fkies
465 2190| MG FHR A EEE H % EFER 3,288 1,011 a a a b b a — — A B A 2 Mk
466| 2340| [ LEOFEH - MFRE] R EHEE EFER 2,766 300 a b a a b a — — A A A 2 ki
467| 656|NEEESHE %ﬁ@i 259,943 16,946 a a b a b b a a A A A 2 ke
468 657|NELEHEREIREX IESE 54,871 4,367 a a a b b a — — A B A 2 ke
469 1460|NELEE LR IESE 53,835 3,410 a a a a b a — — A A A 2 fkfT
470 1722|FEDLOFREFBZE LV X —EEEE |NEE 9,431 0 a a a a b a — — A A A 2 fkfT
471| 1806|1BBERZ A4 77U —F% IESE 3,303 0 b a b b b a — — B B A 2 ke
472| 1805|7' v 7/ A& — RHEE XZEE 1,987 0 a a a b a a — — A B A 2. fk s
473 1925|Hh v KT v o B XZEE 2,832 0 a a a a a a — — A A A 2 fkies
474 66| RR—VHEEZLEESEE ZR—ViREE 1,258 0 a a a b a a — — A B A 2. fk s
475 662|RKR—V KRS - ?ﬁ%%@ﬁﬁ%%% ZR—YREEE 65,167 22,533 a a b a a b a a A A A 2 fkies
476|  664|BARR— ViR EIEE S EE RR—Y iRER 123,908 98,329 a a b a b b a A A B 2 Mk fr
417|  666| T RABHEEREZSFHE RAR—VIREER 73,355 2,277 a a b a b a — — A A A 2.4k #5
478  669|FRBERHFAM (R R — Y IR E]) T2 R =Y iRELR 9,276 0 a a a a b a — - A A A 2.4k
479| 1864| AR — v EEIHEEE ZR— Y iRER 7,301 0 a a a a b a — — A A A 2.4k #5
480| 2159|Em20204Ur vy - X5 UL Ey sERAREERE | X R — Y REIZE 27,186 1,024 a a a b b a - — A B A 5.7
481 B71|BFXIBIRETEZE FHER 1,986 0 a a b a a a — — A A A 2.4k #5
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482|  674|NFERBFIEBN BRI EE FHR 33,117 192 a a b b b a — — A B A 2.1k %t
483|  675| P FRBMFIEINE BN EE FHR 29,032 457 a a b b b a — — A B A 2.1k %t
484| GTS|ABEANFRIBEEERELEHIHEE FHR 565 0 a a b b b a — — A B A 2.1k %t
485| 845 | BB EMRERIREMEE S FHR 2,601 0 a a b b b a — — A B A 2. fki5:
486| 82| BFXEE L KETRY R— bBEHE FHR 1,127 0 a a b b b a — — A B A 2.1k %t
487| 1935| P FRFFRIXIBF MR BEEHE FHR 13,723 3,010 a a a a b a — — A A A 2. fki5:
488| 682 | NMEHBEHEEEZE fgER 3,264 0 a a a a a a — — A A A YR 3
489  683|FRHBEXLIEEE fgER 6,425 0 a a a a a a — — A A A YR 3
490 685|HBIBANEEEHEE fgER 9,303 0 a a a a a a — — A A A YR 3
491  687|IBEHEREEE EispCE 88,590 0 a a a a a b a a A A A R 3
492| 688|EERERMEEE fRER 110 0 a a a a b b a a A A A 2 ki
493 689|FEREREE BT E fgER 4,769 0 a a a a a a — — A A A 2 fk e
494 699|\BEBLEMER M EHESZE fgER 2,037 0 a a a a a a — — A A A 2 fk e
495 700|455RIXIER B HESE fgER 4,057 0 a a a a a a — — A A A R 3
496  TO01|RFEEHESEHBRTF v L UEE fgER 1,002 0 a a a a a a — — A A A 2 fk e
497 703|W U oOXIEREEEIREHESRE fgER 9,767 0 a a b a a b a a A A A 2 fk e
498 704|FAME EXIEEE fgER 9,700 0 a a a a a b a a A A A LILF |BERNBROFTRE
499| 834 |%hHER-RBEFT L NEROEEHEHEE fRER 387 0 a a a a a a - - A A A 2 fk e
500 21203 S 2a=FT 4 + R —ILHEERE fgER 1,869 0 a a a a a a — — A A A 2 fikfs
501 2129|REBHBEHEEEE HER 123,858 0 a a a a a a — — A A A 2 fk e
502| 2342|FREREEEISHEET fEER 1,337 0 a a b a b b a a A A A 2 fk e
503| 705|HBEtL R —EREEEHE HEL2— 47,958 0 a a a a b b a a A A A 2 fk e
504 707|SHPAMEHKEEEEE BEL 82— 3,421 0 b a b a a a - — B A A 2.fk#6T
505| TO8| NERIATRE HEL2— 27,692 105 a a b a a a - - A A A LT |BERBDRE
506| T09|HBMEHKEE HEL2— 31,026 0 a a b a a a - - A A A 2 fk e
507| 710|MFXEEEEEEE BEL 82— 15,817 0 b a a a a a - — A A A 2.fk#6T
508| 1850\ L o ARMEIRE (A EE) HELY L — 12,412 0 a a a b b a — — A B A 2.k
509| TI2|AEREREATEHRREEMEE FIRARREER 75,029 172 b a a a b a - - A A A 2. fk5x
510 713|REBAELRSHESE FIRAR R 27,105 0 a a b a a a — — A A A 2. fk s
511 724/ NERIGERIBRENEE FRARMER 3,320 0 b a a a a a — — A A A 2 fk e
512 725 NERIGRERMEHSE FIRARGEEE 40,744 0 b a a a a b a b A A B 2. fk5x
513 726/ N\ERGBEEES FE AR GREE 54,623 0 a a a a a a — — A A A 2 5k s
514 1016|5FRELL/ b O—ILFRE FRRER 5,376 0 a a b a a a — — A A A 2. fk#t
515 1422/ NERIGBEFEEEHESE FIRAR R 30,335 0 a a b a a b a b A A B 2 5k s
516| 1819 BFIEL LI HREZE FIRAR R 1,402 0 a a a a a a — — A A A 2 5k s
517| 2349 BENHKE DFRBB BB IR FE [FPRERR 9,453 4,324 b a b a a a - - B A A 2.4kt
s18|  728|FAEBRSHMERHEE PRI R I RARS 75,057| 37,407 a a b a b b a a A A A 2.4kt
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519 729|FERAGRIRIBEBLTEE PR RARIERFRS 231,571 0 a a b a b a — A A A 2 Mk

520 730|HRFRAGERBRILIEAEE hER AR RAEE 12,400 0 a a b a a a — A A A 2.4k

521  731|PERIGEERARGEEESHE hERGELARFAREE 73,809 0 a a b a b b b A A B YR 3

522| 733 EEBREREBE BREEBREEAEHRR 857,808 0 b a a b a a — A B A 2 Mk

523 1018|MREZFEHE BREBHEERFHEH| 41,633,088| 1,478,820 a a a a a a . A A A YR 3

524 2369|HEREEMAETEEE EEEBEELEER| 10,657,484 0 a a a a a a — A A A 2 fk e

525 2106(B#/N O —IL Y R T LEREEEE BEZECEHER 5,221 200 a a b a b b a A A A 2 ke

<RATHEOEH >

OULEN O =M GhER) OMEME (AX ) O=XEM

B i BEEY B2 BEH B2 BEY X9 BEHY

ATFE (BEMAELY) 473 AFHE RIS 301 ATFE CBETHB) 481 1iL%e 18

BilMf (—FEDHEMHH D) 51 BEFl (—EDEALH ) 218 BEFMl (AL ICERY O BEHNH D) 38 2.1k f5t 465

CEFfM (MHEBMHEAMELY) 1 CEFffit GhERAMELY) 6 CiHli (BEHICBhE(LICERY B RE) 6 3@/ 9
4.BE1E 5
5587 28
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